ITEM NO.	DESCRIPTION	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)	
53	PED DETECTOR – F&I – STANDARD	6	EA	275.00	1,650.00
54	PED DETECTOR – REMOVE	1	EA	125.00	125.00
55	SIGN PANEL – F&I OVERHEAD MOUNT	4	AS	580.00	2,320.00
	NW 16 <sup>th</sup> Avenue and NW 2 <sup>nd</sup> Street Signal SUB TOTAL AMOUNT \$ 192,820.00				
	TOTAL BID AMOUNT  NW 16 <sup>th</sup> Ave. Resurfacing + NW 16 <sup>TH</sup> Ave. and NW 2 <sup>nd</sup> Street Signal  \$ 1,116,083.45			,083.45	

NOTE: This bid is a unit price bid based on estimated quantities. Final payment shall be based upon actual field measurement of quantities. **List of Unit Abbreviations:** SY Square Yards GL Gallons SD Side Drain LS Lump Sum MG Thousand Gallons ED Each Day CY Cubic Yards **GM** Gross Miles CD Cross Drain EA Each LF **Linear Feet** AC Acre TN Tons NM Net Miles **RCP Reinforced Concrete Pipe** HR Hour AS Assembly PI Per Intersection V. E. Whitehurst & Sons, Inc. Bidder: Company: V.E. Whitehurst & Sons, Inc. 20551 N.E. 75th Street Address: Williston, FL 32696 Authorized Signature: / Title: President William J. Whitehurst Clearly Print Signature: Title: President PHONE: 352-528-2101 352-528-3857 DATE: July 31, 2019 FAX:

jcb@atlantic.net

Email Address:

#### **SECTION G**

**EXHIBIT A** 

#### **BID FORM**

Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

Date: \_\_\_July 31, 2019\_\_\_\_\_

Board of County Commissioners Alachua County, Florida Gainesville, Florida

Dear Commissioners:

The undersigned, as Bidder, hereby declares that he has examined the site of the Work and informed himself fully in regard to all conditions pertaining to the place where the Work is to be done, and that he has examined the plans and Specifications for the Work and comments hereto attached. The Bidder further declares that the only persons, company or parties interested in this Bid or the contract to be entered into, as principals, are named herein; that this Bid is made without connection with any other person, company or parties making a Bid; and it is in all respects fair and in good faith and without collusion or fraud.

The Bidder proposes and agrees, if this Bid is accepted, to contract with Alachua County, Florida, through the Board of County Commissioners, Gainesville, Florida, in the form of contract specified, to furnish all necessary materials, equipment, machinery, tools, apparatus, means of transportation, labor and service necessary to complete the work covered by the Bid and Contract Documents for: <u>Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902</u> to furnish the prescribed Performance and Payment Bond for not less than one percent (100%) of the bid price; and to furnish the required evidence of the specified insurance.

The undersigned further agrees that in case of failure on his part to execute said contract within thirty (30) consecutive calendar days after written notice being given of award of contract, the certified or cashier's check or bid bond accompanying this bid, and money payable thereon, shall be paid into funds of the Alachua County Board of County Commissioners, Gainesville, Florida, as liquidated damages for such failure; otherwise, the check or bid bond accompanying this proposal shall be returned to the undersigned.

The undersigned agrees to commence work as set forth in the Notice to Proceed and substantial completion in the number of working days submitted herein and with final completion within 45 calendar days thereafter. If the Contractor fails to complete the work within the specified time, the Contractor agrees to pay the County \$1,665.00 per calendar day as liquidated damages for substantial completion and \$833.00 per calendar day as liquidated damages for final completion.

Attached is a list of similar projects and a list of Subcontractors as covered in the Instructions to Bidders.

The Bidder agrees to accept in full compensation for each item the prices named in the schedule incorporated herein and attached as "Bid Schedule". The Bidder understands that the quantities shown on the "Bid Schedule" are approximate only and subject to increase or decrease. Should they be increased or decreased, work will be performed at the unit price bid herein. Actual quantities will be determined upon completion of the work.

#### Bid Form Cont'd

#### Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

-	V. E. Whitehurst & Son	s, Inc.	BIDDER	
	Attest:  Corp. Secretary  Title	William J. Whitehur President Title	est	
	Address			
	ADDENDA			
	The Bidder hereby acknowledges the new part of the Contract D from said Addenda.	all insert Number of each Adden	dum received and agrees tha	t all addenda issues are des all impacts resulting
	Corp. Secretary Title		Affiliar est, President	

#### **EXHIBIT A**

#### ADDENDUM 1 BID SCHEDULE

#### Bid 19-907: Project No. 917-7902- NW 16th Ave Mill and Resurface

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
1	MOBILIZATION	1	LS	189,230.00	189,230.00
2	MAINTENANCE OF TRAFFIC	1	LS	173,195.00	173,195.00
3	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	2,500.00	2,500.00
4	INLET PROTECTION DEVICE	34	EA	125.00	4,250.00
, 5	CLEARING & GRUBBING	1	LS	19,521.00	19,521.00
6	MOWING	2	AC	625.00	1,250.00
7	GRADING	1	LS	2,000.00	2,000.00
8	BORROW	50	CY	50.00	2,500.00
8	MILLING EXISTING ASPHALT PAVEMENT, 2.5"	19200	SY	4.75	91,200.00
9	SUPERPAVE ASPHALTIC CONCRETE, SP-12.5, TRAFFIC B	1350	TN	84.55	114,142.50
10	ASPHALTIC CONCRETE FRICTION COURSE	1350	TN	96.55	130,342,50
11	INLETS, CURB, TYPE P-3, PARTIAL	3	EA	3,760.00	11,280.00
12	MANHOLES & INLETS CLEANING & SEALING, <10'	3	EA	5,000.00	15,000.00
13	CURB AND GUTTER, TYPE F	1300	LF	34.50	44,850.00
14	CONCRETE SIDEWALK, 4"	600	SY	56. <b>7</b> 5	34,050,00
15	CONCRETE SIDEWALK, 6"	300	SY	84.70	25,410.00
16	DETECTABLE WARNING SURFACE	312	SF	63.20	19,718.40

Page 4

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
17	SOD OR HYDROSEED	720	SY	4.70	3,384.00
18	SINGLE POST SIGN, INSTALL	13	AS	306.40	3,983,20
19	SINGLE POST SIGN, REMOVE	2	AS	26.90	53.80
20	TRAFFIC STRIPE, PAINT, STD, WHITE, SOLID, 6"	8,700	LF	0.35	3,045.00
21	TRAFFIC STRIPE, PAINT, STD, YELLOW, SOLID, 6"	7,700	LF	0.35	2,695.00
22	TRAFFIC STRIPE, PAINT, STD, YELLOW, 10-30 SKIP, 6"	0.25	GM	3,760.00	940.00
23	TRAFFIC STRIPE, PAINT, STD, WHITE, SOLID, 12"	900	LF	1.25	1,125.00
24	TRAFFIC STRIPE, PAINT, STD, WHITE, SOLID, 24"	150	LF	3.00	450.00
25	TRAFFIC STRIPE, PAINT, STD, WHITE, 2-4 DOTTED/6-10 GAP EXTENSION, 6"	0.01	GM	5,375.00	53.75
26	TRAFFIC STRIPE, PAINT, STD, WHITE, ARROWS	42	EA	59.15	2,484.30
27	THERMOPLASTIC, STD, WHITE, SOLID, 6"	8,700	LF	۵.85	7,395.00
28	THERMOPLASTIC, STD, YELLOW, SOLID, 6"	7,700	GM	0.85	6,545.00
29	THERMOPLASTIC, STD, YELLOW, 10-30 SKIP, 6"	0.25	GM	1,720.00	430.00
30	THERMOPLASTIC, STD, WHITE, SOLID, 12"	900	LF	3.55	3,195.00
31	THERMOPLASTIC, STD, WHITE, SOLID, 24"	150	LF	12.90	1,935.00
32	THERMOPLASTIC, STD, WHITE, 2-4 DOTTED/6-10 GAP EXTENSION, 6"	0.01	GM	7,000.00	70.00
33	THERMOPLASTIC, STD, WHITE, ARROWS	42	EA	120.00	5,040.00
NW 16 <sup>th</sup> Avenue Resurfacing SUB TOTAL AMOUNT \$ 923, 263.45					

Page 5

ITEM NO.	DESCRIPTION	EST QUANTITY	UNIT	UNIT PRICE	AMOUNT BID (EXT TOTAL)
34	MOBILIZATION	+ 1	LS	12,310,00	12,310.00
35	MAINTENANCE OF TRAFFIC	1	LS	11,000.00	11,000,00
36	PREVENTION, CONTROL & ABATEMENT OF EROSION & WATER POLLUTION	1	LS	1,500,00	1,500.00
37	CLEARING & GRUBBING	1	LS	2,000.00	2,000.00
38	CONDUIT – INSTALL NEW	100	LF	7.70	770.00
39	SIGNAL CABLE- NEW OR RECONSTRUCTED INTERSECTION	1	PI	6,100.00	6,100.00
40	SPAN WIRE	1	PI	5,325.00	5,325.00
41	FIBERGLASS INSULATION	60	LF	44.25	2,655.00
42	PULL BOXES	9	EA	873.00	7,857.00
43	STRAIN POLE – FURNISH AND INSTALL	4	EA	04.071,91	76,760,00
44	STRAIN POLE – SHALLOW DEPTH REMOVAL	2	EA	3,633,00	7,266.00
45	ALUMINUM PEDASTAL POLE	4	EA	1,510.00	6,040.00
46	ALUMINIUM PEDASTAL POLE – PED DETECTOR POST	1	EA	1,442,00	1,442.00
47	VEH TRAFFIC SIGNAL - ALUMINIUM	8	AS	1,080.00	8,640.00
48	PED SIGNAL – F&I LED COUNTDOWN 1-WAY	4	AS	657.50	2,630.00
49	PED SIGNAL – F&I LED COUNTDOWN 2-WAY	1	AS	1,230.00	1,230.00
50	PED SIGNAL, REMOVE – POLE/PEDESTAL TO REMAIN	2	EA	250.00	500.00
51	VEHICLE DETECTION SYSTEM, VIDEO, F&I, CABINET EQUIP	1	EA	3,700.00	3,700,00
52	VEHICLE DETECTION SYSTEM, VIDEO, F&I, ABOVE GROUND EQUIP.	1	AS	31,000,00	31,000.00

**EXHIBIT B** 

#### Small Business Enterprise (SBE) Program Participation Form

BID NUMBER: Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

# **OPTION 1**

I certify that our Company is an Alachua County Certified Small Business Enterprise (SBE) registered prior to the Bid opening.

Circle One:

Yes (If yes, complete and sign the last page of this Exhibit)

No (If No, proceed to Option 2.)

# **OPTION 2**

I certify that our Company will perform ALL work and that no subcontractors will be utilized for this bid.

Circle One:

Yes (If yes, complete and sign the last page of this Exhibit)

No (If No, proceed to Option 3.)

BID NUMBER: Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

# **OPTION 3**

SBE Participation. I certify that our Company has contacted the Alachua County's Certified SBEs listed below. I state that the following information regarding SBE Subcontractors is true and correct to the best of my knowledge and belief.

Alachua County has adopted a 15% SBE participation goal and policies which encourage participation of Small Business Enterprises (SBE) in the provision of labor, time, supplies, services or construction items of any kind materials.

SBEs are located in the Alachua County Small Business Enterprise Directory, available at: http://smallbusdir.alachuacounty.us/.

Subcontractor (any business entity holding a subcontract with the prime vendor) services are defined as, "a contract with another business entity that obtains labor, time, supplies, services or construction items of any kind."

Vendors submitting bids under this solicitation are to identify the intended SBE subcontractors. These SBEs have agreed to perform the work for the total dollar value and percentage of the bid set forth below.

If SBE subcontractors are not utilized and listed below or if option 1 or 2 was not chosen, you must proceed to Option 4 and document your Good Faith Effort.

SNG Pavement Marking, Inc.	Jenkins Painting, Inc.
SBE Name of Contractor 1104 NW 50 Ave, Suite A, Gainesville, FL 32	SBE Name of Contractor 6095551 NW 60 St., Chiefland, FL 32626
Address	Address
Signs	Striping
Scope of Work to be Performed	Scope of Work to be Performed
\$ 3,755.00 0.33 %	\$ 51,577.50 4.62 %
\$ 3,755.00 0.33 % (Est \$ Value) (Est % of Total Bid)	\$\frac{51,577.50}{\text{(Est \$ Value)}} \frac{4.62}{(Est \$\% \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
(Est 5 value) (Est 76 of Total Bld)	(Est 5 value) (Est 76 of Total Bld)
SBE Name of Contractor	SBE Name of Contractor
Address	Address
Scope of Work to be Performed	Scope of Work to be Performed
0/	0/
\$% (Est \$ Value) (Est % of Total Bid)	\$ % (Est \$ Value) (Est % of Total Bid)
(Est 5 value) (Est 70 of Total Bid)	(Est 5 value) (Est 70 of Total Bld)
CDEN	SBE Name of Contractor
SBE Name of Contractor	SBE Name of Contractor
A 11	Address
Address	Address
Scope of Work to be Performed	Scope of Work to be Performed
Scope of work to be refformed	Scope of work to be reflormed
<b>\$</b>	<b>\$</b> %
(Est \$ Value) (Est % of Total Bid)	\$

**EXHIBIT B** 

**OPTION 4** 

BID NUMBER: Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

I as the undersigned Vendor certify that I have completed one of the option(s) below (Circle One):

**OPTION 2** 

**OPTION 1** 

If you are unable to certify that, you have completed to the best of your knowledge and belief OPTION 1, OPTION 2, OPTION 3 or OPTION 4, Call (48 hours prior to bid opening) Procurement at 352.374.5202, for direction.						
Vendor Name:	V. E. Whitehurst & Sons, Inc.	Date _	July 31, 2019			
Signature <u>CC</u>	The Jarthellie	Title	President			
Printed Name:	William I. Whitehurst	Title	President			

#### Proposed Subcontractors (Non-Small Business Enterprise) Form

# BID NUMBER: Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

This form is for all Non-Small Business Enterprise subcotractors being utlized on this project that are not included on Exbihit B.

Bob's Barricades, Inc.	Mill-It Corporation
Name of Contractor	Name of Contractor
921 Shotgun Road	9630 Discovery Court
Sunrise, FL 33326	Altamonte springs, FL 32714
Address	Address
Temporary MOT Items	Milling
Scope of Work to be Performed	Scope of Work to be Performed
\$ 6,152.00 0.55 %	\$ 66,960.00 5.99 %
(Total \$ Value) (% of Total Bid/RFP)	(Total \$ Value) (% of Total Bid/RFP)
Wallace Construction Company	Contact Network, LLC dba InLine
Name of Contractor	Name of Contractor
P. O. Box 700422	5535 Business Parkway
St. Cloud, FL 34770-0422	Theodore, AL 36582
Address Inlets & Concrete Work	Address Signalization
Scope of Work to be Performed	Scope of Work to be Performed
\$ 180,864.61 16.20 %	\$ 165,833.80 14.85 %
(Total \$ Value) (% of Total Bid/RFP)	(Total \$ Value) (% of Total Bid/RFP)
Sodmore	
Name of Contractor	Name of Contractor
P. O. Box 295	
McAlpin, FL 32062	
Address Sodding	Address
Scope of Work to be Performed	Scope of Work to be Performed
•	
\$ 3,125.00 0.28 %	\$%
(Total \$ Value) (% of Total Bid/RFP)	(Total \$ Value) (% of Total Bid/RFP)
Name of Contractor	Name of Contractor
Address	Address
Scope of Work to be Performed	Scope of Work to be Performed
	0/
(Total \$ Value)	(Total \$ Value) (% of Total Bid/RFP)

**EXHIBIT D** 

#### ALACHUA COUNTY GOVERNMENT MINIMUM WAGE (GMW) FORM

Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902

The undersigned certifies that all employees, contracted and subcontracted, completing services as part of this Bid/RFP are paid, and will continue to be paid, in accordance with Chapter 22, Article III of the Alachua County Code of Ordinance ("Wage Ordinance").

Please mark the appropriate box below that applies to how you pay your employees:

1 1000	se mark the appropriate	e box below that applies to now you pay your employees.	>	
1.	<b>▼</b> Employees involv	ed with Alachua County projects are paid a minimum of S	\$13.50 hourl	ly and are provided health benefits?
2.	Employees involved benefits?	ved with Alachua County projects are paid a minimum	of \$15.60 h	nourly but are not provided health
Bidd	ler: V. E. Whi	itehurst & Sons, Inc. Company:	V. E. W	hitehurst & Sons, Inc.
Authorized Signature: / Mall Miller			_ Title:	President
Clea	rly Print Name:	William J. Whitehurst	Phone:	President
Ema	il Address:	jcb@atlantic.net		

**EXHIBIT E** 

#### **DRUG FREE WORKPLACE**

Section 22.09 Competitive Sealed Bidding of the Alachua County Purchasing Code states that in the evaluation of bids, all factors in the bidding process being equal, both as to dollar amount and ability to perform, priority will be given, first, to those vendors certifying a drug-free workplace, secondly, to certified Small Business Enterprise (SBE) bidders.

The undersigned vendor in accordance with Florida Statute 287.087 and Section 22.09 of the Alachua County Purchasing Code hereby certifies that

٧.	Ε.	Whitehurst	&	Sons,	Inc.	
Jame of Business						

#### does:

- 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify the employees that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 1893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
- 5. Impose a sanction on, or require the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation of this section.

As the person authorized to sign the statement, I certify that this firm complies fully with the above requirements.

Bidder's Signature William J. Whitehurst, President

July 31, 2019

Date

#### **EXHIBIT F**

#### **BIDDER'S QUESTIONNAIRE**

Bidder'	Name: V. E. Whitehurst & Sons, Inc.	
Bidder'	Address: 20551 NE 75th St., Williston, FL 32696 Phone: 352-528-2101	
Numbe	of years in this type of service?	
Numbe	of employees "ON THE JOB" each week:15 Number of employees "ON CALL" each week:0	
Are you	FDOT Prequalified for this work? Yes X No If so, MyFlorida MarketPlace Number: VF043619482	
Will yo	a subcontract any part of this work:  Yes X No If so, give details: We will	
subc	ontract the temporary MOT signs, inlets and concrete work, milling, sodding,	
sign	s, striping and signalization.	
	major equipment which will be available upon commencement of the agreement to perform the required service:	
Asph	alt plant, asphalt pavers, transfer vehicles, dump trucks, loaders, backhoes,	
moto	rgraders, rollers and spreaders.	
Do you	currently hold any municipality contracts:  Yes X No If so, please indicate below:	
Alac	nua County, City of Gainesville, City of Williston	
List the	ee references of firms receiving similar service to that requested in this bid (comparable facility size):	
1)	Firm: Florida Dept. of Transportation Phone: 352-381-4202	
	Contact Person: Frank Suarez, P.E., Resident Engineer	
2)	Firm Bradford County Public Works Phone: 352-371-2741	
	Contact Person: Jerome Kelley, P.E., county engineer	
3)	Firm: Levy Co. Board of co. Commissioners Phone: 352-486-2872	
	Contact Person:  H. Lee Mills, P.E., County Engineer	
Are yo	r employees screened by: (indicate)	
1)	Polygraph No	
2)	General Interview Yes	
3)	Background Investigation No	
4)	Police Record Check No	
5) Additional <u>MVR Check &amp; References</u> Have any leases, contracts or agreements for services held by your firm ever been canceled or terminated before the end of the term by either party: Yes No_X If the answer is yes, state the location and circumstances on an "attachment" to this questionnaire.		
What o	onstitutes your normal business days and working hours: 7:00 AM to 5:30 PM, Monday - Friday	
Describe in the spaces provided, your firm's operational plan for providing the services under this agreement:  Install the items of work in the bid schedule within the time allotted.		
	·	
	dersigned swears to the truth and accuracy of all statements and answers contained herein	
DATE	July 31, 2019  AUTHORIZED SIGNATURE / // William / Whitehurst, President	

**EXHIBIT G** 

#### **RESPONSIBLE AGENT FORM**

The Contractor shall designate a responsible agent and alternate as necessary, for all dealings, communications, or notices or contracts between the County and the contractor by completing and returning this Responsible Agent Form. Any notice or communication to or from the responsible agent shall be deemed to be a communication to the contractor.

RESPONSIBLE AGENT:	William J. Whitehurst, President			
ADDRESS:	20551 NE 75th Street			
	Williston, FL 32696			
PHONE NO.:	352–528–2101			
FAX NO.:	352-528-3857			
EMAIL ADDRESS:	jcb@atlantic.net			
ALTERNATE RESPONSI	BLE AGENT: Jack W. Whitehurst, Vice President			
ADDRESS	20551 NE 75th Street, Williston, FL 32696			
PHONE NO.	352–528–2101			
FAX NO.	352–528–3857			
EMAIL ADDRESS:	jww@atlantic.net			
SIGNED: July 31, 2019 William J. Whitehurst				

President

**EXHIBIT H** 

#### FORM OF BID BOND

#### STATE OF FLORIDA COUNTY OF ALACHUA

KNOW ALL MEN BY THESE PRESENTS:

That we, V.E. Whitehurst & Sons, Inc. (hereinafter called Bidder), and as Surety, are bound to the Board of County Commissioners of Alachua County, Florida, as Obligee hereinafter called COUNTY, in the amount of  $\frac{5\% \text{ of Total Actual Bid}}{5\% \text{ of Bid}}$  Dollars ( $\frac{5\% \text{ of Bid}}{5\% \text{ of Bid}}$ ), for the payment of whereof BIDDER and Surety bind themselves, their heirs, executors, administrators, successors, and assigns jointly and severally.

WHEREAS, Bidder contemplates submitting or has submitted, as a bid to the COUNTY for furnishing certain materials and labor in connection with the construction of: <u>Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902</u>, including all incidental and necessary work thereto covered by these specifications.

WHEREAS, it was a condition precedent to the submission of said bid that a certified check or bid bond in the amount of five percent (5%) of the base bid be submitted with said bid as a guarantee that the bidder would, if awarded the contract, enter into a written contract with the COUNTY for the performance of said contract, within ten (10) consecutive calendar days after written notice having been given of the award of the contract.

#### THE CONDITION OF THIS BOND IS, if:

The bid of the Bidder is accepted by the COUNTY and within ten (10) consecutive calendar days after written
notice of such acceptance, the Bidder shall enter into a written contract with the COUNTY and furnish a contract
surety bond in an amount equal to one hundred percent (100%) of the base bid, satisfactory to the COUNTY (if
required in the detailed specifications), then

#### THIS BOND IS VOID; OTHERWISE, IT REMAINS IN FULL FORCE AND EFFECT, AND

The sum herein stated shall be due and payable to the COUNTY, and the Surety herein agrees to pay said sum immediately upon demand of the COUNTY in good and lawful money of the United States of America, as liquidated damages for failure thereof of said Bidder.

Telephone No. 352-493-2565

Signed and sealed this 31st day of	July , 20 19.
WITNESSES: Secretary (CORPORATE SEAL)	V.E. Whitehurst & Sons, Inc. (Name of Corporation)  By War Manual Mile)
SEAL S	William J. Whitehurst, President (Type Name and Title Signed Above)
IN THE PRESENCE OF:	INSURANCE COMPANY: Western Surety Company
(Agent and Attorney-in-Fact)	By Todd S. Bryant
2560 N Young Blvd (Street)	Address PO Box 1520
	Chiefland, FL 32644 (City/State/Zip Code)

**EXHIBIT K** 

#### **PUBLIC RECORD DECLARATION OR CLAIM OF EXEMPTION**

As a bidder or proposer, any document you submit to Alachua County may be a public record and be open for personal inspection or copying by any person. In Florida 'public records' are defined as all documents, papers, letters, maps, books, tapes, photographs, films, sound recordings, data processing software, or other material, regardless of the physical form, characteristics, or means of transmission, made or received pursuant to law or ordinance or in connection with the transaction of official business by any agency. Section 119.011, F.S. A document is subject to personal inspection and copying unless it falls under one of the public records exemptions created under Florida law. Please designate what portion of your bid or proposal, if any, qualifies to be exempt from inspection and copying:

(execute either section 1. or II., but not both; bidder may not modify	y language)			
I. NO EXEMPTION FROM PUBLIC RECORDS LAW				
No part of the bid or proposal submitted is exempt from disclosure	under the Florida public records law, Ch. 119, F.S.			
Will Mutatille	July 31, 2019			
Bidder's Signature William J. Whitehurst, Presidnet	Date			
OR				
II. EXEMPTION FROM PUBLIC RECORDS LAW AND AGREEMENT TO INDEMNIFY AND DEFEND ALACHUA COUNTY				
The following parts of the bid or proposal submitted are exempt from disclosure under the Florida public records law because: (list exempt parts and legal justification. i.e. trade secret):				
By claiming that all or part of the bid or proposal is exempt from the public records law, the undersigned bidder or proposer agrees to protect, defend, indemnify, and hold the County, its officers, employees and agents free and harmless from and against any and all claims arising out of a request to inspector copy the bid or proposal. The undersigned bidder or proposer agrees to investigate, handle, respond to, provide defense (including payment of attorney fees, court costs, and expert witness fees and expenses up to and including any appeal) for and defend any such claim at its sole cost and expense through counsel chosen by the County and agrees to bear all other costs and expenses related thereto, even if they (claims, etc.) are groundless, false, or fraudulent.				
Bidder's Signature	Date			

July 26. 2006



#### CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 07/30/2019

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(les) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

this cofficate does not comer rights to the cofficate holder in new of such endorsement(s).					
PRODUCER Willis of Florida, Inc.		CONTACT Shirley Hill Shilts			
4880 Newberry Road, Suite 100		PHONE (A/C, No, Ext): 352-378-2511 FAX (A/C, No): 352-37		78-9801	
Gainesville, FL 32607		E-MAIL ADDRESS:	•		
		INSURER(S) AFFORDING COVERAGE		NAIC#	
		INSURER A	: Zurich American Insuranc	æ Co.	16535
INSURED V.E. Whitehurst & Sons, Inc.	V.E. Whitehurst & Sone Inc	INSURER B: American Guarantee & Liability Insurance Co.		26247	
20551 NE 75 Street		INSURER c: Old Republic General Insurance Corp.		24139	
Willistion, FL 32696		INSURER E	: XL Insurance America Inc	λ.	2454
		INSURER E	!!		
		INSURER F	·:		
COVERAGES CERTIFICATE NUMBER: REVISION NUMBER:					

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. ADDL SUBR POLICY EFF POLICY EXP (MM/DD/YYYY) LIMITS TYPE OF INSURANCE POLICY NUMBER COMMERCIAL GENERAL LIABILITY \$1,000,000 EACH OCCURRENCE 10/1/2018 10/1/2019 A GLO-4184758 DAMAGE TO RENTED PREMISES (Ea occurrence) CLAIMS-MADE X OCCUR \$500,000 PD Ded: \$5,000 \$5,000 MED EXP (Any one person) \$1,000,000 PERSONAL & ADV INJURY

GEN'L AGGREGATE LIMIT APPLIES PER: **GENERAL AGGREGATE** \$2,000,000 \$2,000,000 POLICY X JECT LOC PRODUCTS - COMP/OP AGG OTHER: COMBINED SINGLE LIMIT (Ea accident) \$1,000,000 AUTOMOBILE LIABILITY BAP-4451234 10/1/2018 10/1/2019 BODILY INJURY (Per person) ANY AUTO SCHEDULED OWNED AUTOS ONLY BODILY INJURY (Per accident) NON-OWNED PROPERTY DAMAGE (Per accident) HIRED AUTOS ONLY AUTOS ONLY **UMBRELLA LIAB** X \$ 5,000,000 **EACH OCCURRENCE** OCCUR В 10/1/2019 10/1/2018 AUC0184753-03 **EXCESS LIAB** AGGREGATE \$5,000,000 CLAIMS-MADE DED X RETENTION \$ WORKERS COMPENSATION X PER | C A3CW13041801 1/1/2019 1/1/2020 AND EMPLOYERS' LIABILITY \$1,000,000 ANYPROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? E.L. EACH ACCIDENT \$1,000,000 E.L. DISEASE - EA EMPLOYEE lf yes, describe under DESCRIPTION OF OPERATIONS below E.L. DISEASE - POLICY LIMIT \$ 1,000,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required)

RE: Bid 19-907: NW 16 Avenue Milling & Resurfacing and NW 16 Avenue at NW 2 Street signal. Project No: 917-7902

Alachua County Board of County Commissioners, Alachua Public Works, Engineering Brian Singleton P.E.; Contact #352-374-5245; Email BSingleton@AlachuaCounty.US

	CERTIFICATE HOLDER	CANCELLATION	
Alachua County Board of County Commissioners Alachua County Public Works 12 SE 1 Street, 2nd Floor Gainesville, FL 32601	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.		
	Authorized Representative Mulden Muld		

4 1988-0016 ACORD CORPORATION. All rights reserved.

ACORD 25 (2016/03)

The ACORD name and logo are registered marks of ACORD

# Western Surety Company 20551 N.E. 75th Street Williston, FL 32696

V. E. Whitehurst & Sons, Inc.

#### POWER OF ATTORNEY APPOINTING INDIVIDUAL ATTORNEY-IN-FACT

Know All Men By These Presents, That WESTERN SURETY COMPANY, a South Dakota corporation, is a duly organized and existing corporation having its principal office in the City of Sioux Falls, and State of South Dakota, and that it does by virtue of the signature and seal herein affixed hereby make, constitute and appoint

Todd S Bryant, Cheryl Lynn Boland, Individually

of Chiefland, FL, its true and lawful Attorney(s)-in-Fact with full power and authority hereby conferred to sign, seal and execute for and on its behalf bonds, undertakings and other obligatory instruments of similar nature

#### - In Unlimited Amounts -

and to bind it thereby as fully and to the same extent as if such instruments were signed by a duly authorized officer of the corporation and all the acts of said Attorney, pursuant to the authority hereby given, are hereby ratified and confirmed.

This Power of Attorney is made and executed pursuant to and by authority of the By-Law printed on the reverse hereof, duly adopted, as indicated, by the shareholders of the corporation.

In Witness Whereof, WESTERN SURETY COMPANY has caused these presents to be signed by its Vice President and its corporate seal to be hereto affixed on this 15th day of June, 2015.

WESTERN SURETY COMPANY

Paul T. Bruflat, Vice President

State of South Dakota County of Minnehaha

On this 15th day of June, 2015, before me personally came Paul T. Bruflat, to me known, who, being by me duly sworn, did depose and say: that he resides in the City of Sioux Falls, State of South Dakota; that he is the Vice President of WESTERN SURETY COMPANY described in and which executed the above instrument; that he knows the seal of said corporation; that the seal affixed to the said instrument is such corporate seal; that it was so affixed pursuant to authority given by the Board of Directors of said corporation and that he signed his name thereto pursuant to like authority, and acknowledges same to be the act and deed of said corporation.

My commission expires

February 12, 2021

S. EICH SOUTH DAKOTA

S. Eich, Notary Public

#### **CERTIFICATE**

I, L. Nelson, Assistant Secretary of WESTERN SURETY COMPANY do hereby certify that the Power of Attorney hereinabove set forth is still in force; and further certify that the By-Law of the corporation printed on the reverse hereof is still in force. In testimony whereof I have hereunto subscribed my name and affixed the seal of the said corporation this 31st day of July



WESTERN SURETY COMPANY

#### Authorizing By-Law

# ADOPTED BY THE SHAREHOLDERS OF WESTERN SURETY COMPANY

This Power of Attorney is made and executed pursuant to and by authority of the following By-Law duly adopted by the shareholders of the Company.

Section 7. All bonds, policies, undertakings, Powers of Attorney, or other obligations of the corporation shall be executed in the corporate name of the Company by the President, Secretary, and Assistant Secretary, Treasurer, or any Vice President, or by such other officers as the Board of Directors may authorize. The President, any Vice President, Secretary, any Assistant Secretary, or the Treasurer may appoint Attorneys in Fact or agents who shall have authority to issue bonds, policies, or undertakings in the name of the Company. The corporate seal is not necessary for the validity of any bonds, policies, undertakings, Powers of Attorney or other obligations of the corporation. The signature of any such officer and the corporate seal may be printed by facsimile.

# V. E. WHITEHURST & SONS, INC.

20551 NORTH EAST 75TH STREET • WILLISTON, FLORIDA 32696 PHONE (352) 528-2101 • FAX (352) 528-3857 TO: Alachua County Procurement 3rd Floor, County Administration Bldg. 12 SE 1st Street Gainesville, FL 32601-6983

SEALED BID:

"Bid 19-907: NW 16th Ave Milling and Resurfacing & NW 16th Ave @ NW 2nd Street Signal - Project No. 917-7902"

BID OPENING:

Wednesday, July 31, 2019 at 2:00 PM

JUL 31 719 PH 1:21